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Answer Key with Questions
Lesson Check: Sound and Light

1) Astronauts in space cannot talk to each other
unless they use a radio to speak back and forth. Why
is this?
o The air is too thick to carry sound waves
efficiently.
o The force of gravity is too strong to allow
sound waves to travel.
o There is no air in space, so there is no
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: Adipuall

medium to carry sound waves.
o Itis very loud in space, so they can only hear ol agian g law agiSay Y 1Al ¢ sliadll (8 s Jle &imp
each other through a radio. el YA e V)
Correct Answer damall 4laY)

There is no air in space, so there is no medium to
carry sound waves.

A gl il gl Jail Al a5 Y 13 celimdl) ool gn aa g Y

2) A fire truck's siren and flashing lights are

Wil & elalaY) 3l Liaal 5ll o) a5 HI0Y) ) jlica o) (2

examples of __and __ energy. Choose two answers. Ol s s W e

o heat sl o

o light cpall o

o sound Geall o

o chemical LSl o
Correct Answer dasall Alay
light ¢ gacall
sound & gual)

3) To stop a drum from producing sound, you would

........ dadiv Gigall jlaal e Julal) 2343

S50l pal o
o hit it harder Lallg pal o
o hit it softer Sy e lexid o
o stop it from vibrating sl daxsal o
o place it in water
Correct Answer daaual) ey
stop it from vibrating ) AN e Leaial




4) Sound waves travel the fastest through............ .

............. DA Sy La g by 4 suall il sl Jais (4

o solids dall ol gl o

o liquids Jledl o

O gases Al o
Correct Answer danall sy
solids alall o) gall

5) Why are sounds not heard in space?

o Space is too cold for sound waves to travel.

o There is too much matter to travel through in
space.

o Space is a vacuum with few particles to travel
through.

o Energy cannot travel in space.

feliaill 3 & pal) aansi ¥ 1A (5
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Correct Answer
Space is a vacuum with few particles to travel
through.
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6) Sound -------------- travel through outer space. BPENE EN| PTG [Tt T | S ——— G gall (6
o does 48w 0o
o does not aSa¥ o
Correct Answer dasaal) day
does not aSay Y

7) How does sound energy travel?

4 pual) d8Ual) Jains CaS (7

o in strings s A O

o in beams el o

o in pulses Glay 8 o

o in waves Gase i o
Correct Answer dasaual) daY)

in waves

Ala e




8) A form of energy that allows you to see objects is

. A Lt A5 ell ey A A8l QWSS (e IS5 (8

o heat BJ‘_)AM o

o light ¢l o

o solar energy wad Al o

o vision Ly, o
Correct Answer daaual) 4y
light ¢ guall
9) Light travels as tiny ......... of energy. Alpall 48l (e L JSE A e paall il (9
Correct Answer daaall s
particles Gl ja
10) A pom-pom launcher LY a3 ps 483 (10

transfers kinetic energy to thermal energy
transforms kinetic energy to sound energy
transforms stored energy to energy of motion
transfers energy of motion to stored energy
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Correct Answer
transforms stored energy to energy of motion

daaall Alay
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